	1 ВАРИАНТ
	2 ВАРИАНТ

	№1. Представьте в виде десятичной дроби:

а) 73 [image: image2.png]1000



;   б) [image: image4.png]100



;   в) 1[image: image6.png]1000000



.

№2. Представьте в виде обыкновенной дроби:

а) 96,0269   б) 0,005   в) 7364,350

№3. Сравните:

а) 0,26 и 0,27;      б) 1,5 и 1,51;     в) 2,1 и 1,85.

№4. Выполните действие:

а) 2,3 + 5,4;  б) 5,7 + 0,332;  в) 0,708 + 11,353;

г) 8,3 - 5,4;
д) 3,9 - 1,785.

№5. Округлите число 35,631 до:

а) сотых;

б) целых
	№1. Представьте в виде десятичной дроби:

а) 79 [image: image8.png]1000



;   б) [image: image10.png]100



;   в) 1[image: image12.png]1000000




№2. Представьте в виде обыкновенной дроби:

а) 95,0273   б) 0,007   в) 7684,160

№3. Сравните:

а) 0,26 и 0,27;    б) 1,5 и 1,51;     в) 2,1 и 1,85.

№4. Выполните действие:

а) 1,6 + 3,3;     б) 6,4 + 0,795;     в) 9,495 + 0,306;

г) 9,5 - 6,8;   д) 7,5 - 2,493.

№5. Округлите число 27,375 до:

а) десятых;

б) целых


